S=2#HE33 (B#)
1. fRz+|z|—-5i=8—1i
Solvez+ |z| -5i=8—1i

z=3+4+4i

2. — N EHMRMz = x+yi R Z=x—yi. E—RTE, EAHO0, HAFRET z &8 KR-

IRIERRO, A F0 B 325
The conjugate of the complex number z = x + yi is Z = x — yi. In an Argand diagram with origin O,

. 1 .
the point A represents z and B represent E.Prove that 0, A and B are collinear
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3. R—HBETEER zHBEME |z—-2+3i| =1
Find the equation of the locus of a point z which moves such that [z —2 + 3i| =1

x2+y?2—4x+6y+12=0

4. Bz = (cos@ + isin®),EAR cos 30 = 4cos30 — 3 cos 0, sin30 = 3sinf — 4sin30
Given z = (cos @ + isin @) ,prove cos 30 = 4c0s30 — 3 cos 0, sin360 = 3sinf — 4sin36
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5. B8 %Nz =r(cosb,isin)Flw = z + i K wlEBE FEREr = 2,0 € [0,21]
Given two complex number z = r(cos 8,isinf) andw = z + i Find the equation of the locus of
the pointw ifr = 2,0 € [0,27]

21 .. 2T s
6. %ZZCOS?+lSIH?,*Z65+ZG6+ZG7+"'+Z365

2T . . 2T .
If z = cos -+ i sin - find 765 4 706 4 767 4 ... 4 7365

TCLA



S=2#HE33 (B#)
7. FHRIRG - 9V2x? + 46x —30V2 = 0 IRENEZHF], RARKH=MR.
If the roots of the equation x3 — 9v/2x2 4+ 46x — 30v/2 = 0 are in AP, find the three roots of the
equation.

V2,32,5V2

8. EMa, By AFFRERX® +6x*+3x -2 =01, X—ABREXEBERI2-a,2-6,2—y
Given a, 8,y are roots of the equation x% + 6x2? + 3x — 2 = 0, form a equation with roots 2 —
a,2—B,2-y

x3 —12x*+39x—-36=0
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9. Ea By WAERXS+2x>+3x+4 =091, XRE

If &, B,y are the roots of x> + 2x% + 3x + 4 = 0, find the value of
g L4ligl
Ca By

b. a?+ p? +y?
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10. B413i — 1 AFEER + 2% +9x%2 — 8x + 10 = O —1R, BAHER
Given 3i — 1 is a root of the equation x* + x3 + 9x2 — 8x + 10 = 0, solve the equation

_14+3i
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11.

z=—%+§i,2‘21+z+zz+---+zlz

1 43

z=—-+—ifindl+z+2%+-+2"

4 2 — N = .100 4 1
12.&Fx*+x+1=0,k x - e
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N 2+2i
13. 1_[_%_(1::/5:)8
2+2i

8
1—\/§i)

Calculate (

—8(1 — V3i)

14 3 &E 1-i-i2-i3 100

3...;100

Evaluate 1-i-i%-i3 i

TCLA



